
ENGG. PHYSICs 

1. Inaptype semi-conductor, germanium 
is doped with 

A) Oxygen 
B) Phosphorus 

C) Aluminium 
D) Silicon 

2. When NPN transistor is used as an 
amplifier 
A) Electrons move from base to 

collector 

B) Holes move from emitter to base 
C) Electrons move from collector to 

base 

D) Holes move from hase to emitter 

3. An object is kept at a distance of 60 cm 
from a concave mirror. For getting a 
magnification of 1%, focal length of 
the concave mirror required is 

A) 60 cm 
B) 40 cm 

C) -20 cm 
D) 30 cm 

4. If the critical angle for total internal 
reflection îrom a medium tovacuum is 30", 
the velocity of light in the medium is 
A) 3x 1oms-1 

B) 1.5 x 10 msl 
C) 6x 1oms 

D) V3 x 10'ms! 

C 0 

1. 6 p-ET 37ares 4, qftqy 

A) 3fetH 

B) sfue 

) fnfuru 
D) fafer 
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2. r NPN zifrz 6 THts 

3. v5 Ì (5 3TATI 60 cm t 

iars 
A) 60 cm 

B) 40 cm 

C)-20 cm 

D) 30 cm 

A) 3x 10mg 
B) 1.5 x 10ms! 
C) 6x 10msl 

D) /3 x 10 ms 
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0. A convex lens of focal length 40 cm 

1s in contact with a concave lens of 

focal length 25 cm. The power of the 
combination is 

C 

A)- 1.5D 
B) -6.5D 

C) -6.5 D 

D) + 1.5 D 

6. The equation of state of sone guses can 

beexpressed as P+(V - b) = RT. 
Here P is the pressure, V is the volume, 
Tis the absolute temperature and 
a, b, R are constants. The dimensions 
of 'a' are 

A) ML²T 
B) ML-T 
) M�LT 
D) MLT-2 

7. Light year is a unit of 
A) Time 
B) Mass 

C) Distance 

D) Energy 

8. A body falling from a high minar travels 40 m in the last 2 seconds of its fall to ground. Height of minar in metres is (g= 10 ms) A) 60 

V 

B) 45 
C) 80 
D) 50 

A) - 1.5 D 

B) � 6.5D 

C) +6.5D 

D) + 1.5 D 

P+(V - b) = RT *0 G0AEH 

8, T uÍ AIVHTA 3r a, b, R faii 

A) ML²T 
B) MLT 
C) M²LT-! 

D) ML°T2 

7. TGRT a 

A) H4g 

B) H& 

-C) t 
D) 3hf 

sifa4 2 ths 40 m ñ t HIE 
R A Sr mt(g= 10 ms) 

A) 60 
B) 45 
C) 80 
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9. A cyclist turns around a curve at 15 miles/hour. If he turns at double the speed, the tendency to overturn is 
A) Doubled 

E) Quadrupled 
C) Halved 

D) Unchanged 

10. A bullet is to be fired with a speed of 
2000 ns to hit a target 200 m away 
on a level ground. If g= 10 ms then 
the gun should be aimed 
A) Directly at the target 
B) 5 cm below the target 

C) 5 em abuve the target 

D) 2 cm above the target 

11. A particle is executing SHM along a 
straight line. Its velocities at distances 

x, and x, from the mean position are 
V, and V, respectively. Its time period is 

A) 

B) 2r, 

D) 2, 

V+V 
xí+x 

V-V 

v-v 

15 mileahour t fe 

Page No. 5 

A) ayt 
B) K Tf 

D) 3ftafta 

10. 5 Tieft 2000 ms ft fa à HHA 

1 afe g =10 ms, ATAI 

B) t 5 cm 

C) FAA 5 cm 5 
D) G2 cm 54 

A) 

B) 2, 

x-x 

V-V 

D) v-V 
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12. The phase difference between the two particles situated on both sides of a H node is 

A) 0° 

B) 90° 

C) 180° 

D) 360° 

13. The charge q is projected into a 
uniform electric fheld E. Work done 
when it moves a distance Y is 

A) 
Y 

qE 

B) 9 
E 

D) qEY 

14. The energy required to charge a 
parallel plate capacitor of plate 
separation d and plate area of 
cross-section A such that the uniform 

electric field between the plates is E, is 

A) e,EAd 

D) e3 Ad 

A) 0° 

B) 90° 

P'age No, 6 

C) 180° 

D) 360° 

13. vHH frge a Ei 3TaI q vafta 

Y 
YA) 

qE 

E 

A) eAd 

1 

1 

D) e,E /Ad 

Shot by realme 
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15. In a conductor, if 3000 coulomb of 
charge enters and 3000 coulomb of 
charge exits in time 10 minutes, then 
the current is 

A) 5 ampere 

B) 10 ampere 

C 

C) 2.5 ampere 

D) Zero 

16. If the angle of prism is 60 and angle 
of minimum deviation is 40, the angle 
of refraction will be 

A) 30° 

B) 60 
C) 100° 

D) 120° 

17. What will be the input of A andB 
for the boolean expression 

(A+B)-(A-B) =1? 
A) 0,0 
B) 0, 1 
C) 1,0 
D) 1, 1 

18. A radioactive sample has a half life of 

l year. The fraction of this material, 

that would remain after 5 years will be 

A) 

B) 

C 

D) 

1 

32 

1 

2 

4 
5 

A) 5 vrft 

B) 10 fr 

) 2.5 efar 

D) 

16. f fH S UT 60°3 A er 

A) 30 

B) 60° 

C) 100° 

D) 120° 

17. frer freft A +B)-(A-B)-1 
fe A 3tt B ? 

A) 0,0 
B) 0, 1 

Page No. 7 

C) 1, 0 

D) 1, 1 

B) 

C) 

1 

1 

D) ; 
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19. Two lenses of power + 12 and - 2 
ciopters are placed in contact. What will 
be the focal length of combination ? 

A) 10 cm 

B) 12.5 cm 
C) 16.6 cm 

D) 833 cm 

20. In vacuum, an electron of energy 

10 keV hits tungsten target, then 
emitted radiation will be 
A) Cathode rays 
B) X-rays 
C) Infrared rays 

D) Visible spectrum 

21. A metal block is exposed to beams 

of X-rays of different wavelengths, 
X-rays of which wavelength peretrate 
most ? 

A) 2Å 
B) 4Å 
) 6Ã 
D) 8¢ 

22. The ratio of the longest to shortest 
wavelength in Brackett series of 

hydrogen spectra is 

A) 

B) 

C) 

17 

6 

25 

9 

4 

19, +1 

A) 10 cm 
B 12.5 cm 

C) 16,6 cm 
D) 8.33 cm 

20. frafe 10 keV#156I E t 

A) es fsut 
B) X-fai 

D) Tga 

21. y# ra G faf �rea ar 

A) 2Å 

Page No. 8 

B) 4Å 
C) 6Å 

D) 8¢ 

A) 

B) 17 

C) 

9 

D) 

25 

9 

4 
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23. In a nuclear reactor, the iuel is 
consumed at the rate of l mgls. The 
power generated in kilowatt is 
A) 9x 10 
B) 9x10 
C) 9x 1o 

C 

D) 9x 1o!2 

24. A freshly prepared radioactive sample 
of half-life 4 hours emits radiation of 
intensity which is 64 times the safe 
level. The minimum hours after which 
it would be safe to work with it is 

A) 4 

B) 24 
C) 12 
D) 16 

25. The radioactive deray of uranium into 

thoriumn is expressed by the equation 

’ 0Th2344X where X is 92 U238 

A) An electron 

B) A proton 

C) A deuteron 

D) An alpha particle 

26. The mass of ship is 2x 10' kg. On 

applying a force of 25 x 10° N, it is 

displaced through 25 m. After the 

displaccment, the velocity acquired 

by the ship will be 

A) 12.5 ms 
B) 5 ms 
C) 3.7 ms 
D) 2.5 ms 

A) 9x10 
B) 9x 10 
C) 9x 10 
D) 9x 1o12 

24. 4 2 Htg ara te5 AI 44141 T 

TA faf 3HfTa 

A) 4 

B) 24 

C) 12 
D) 16 

92 U233 

A) vs Se 

B) 

Page No, 9 

# TeH 

26, U6 TEH I 

25 x 10 N A 

25 m farnfta a 

A) 12.5 ms 

B) 5 ms 
C) 3.7 ms 

-1 

HA 2 X 10' kg àI 

D) 2.5 ms 

R 8 IIr 
Ifa 
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C 

27. A body whose momentum is constant, must have constant 
A) Force 
B) Velocity 
C) Acceleration 

D) All of these 

28. A force of 5 N making an angle 8 
with the horizontal, acting on an 
object displaces it by 0.4 m along the 
horizontal direction. If the object gains 
kinetic energy of1J, the horizontal 
component of force is 
A) 1.5 N 

C) 3.5 N 

29. A block of mass 10 kg moving in 
x-direction with a constant speed of 
10 ms is subject to a retarding force 
F= 0.lx J/m during its travel from 
x= 20 m to 30 m. Its final kinetic 
energy will bo 

A) 450J 

C) 250 J 

A) 4.8 hours 

B) 48V2 hours 

B) 2.5 N 

D) 4.5 N 

C) 24 hours 

D) 24 V2 hours 

B) 

30. A satellite which is geostationary in 
a particular orbit is taken to another 
orbit. Its distance from the center of 
earth in new orbit is 2 times that of 
the earlier orbit, The time period in 
the second orbit is 

D) 

275 J 

475 J 

A) 

Page No. 10 

B) m 

D) t 

faur 0.4 m fararfa 5 1 I afe qa 

A) 1.5 N 
C) 3.5 N D) 1.5 N 

29. v5 rd fa 10 msHTa x-fem 

A) 450 J 

TAAI 3T 10 kg H 5 T 
x= 20 m 30 m TS f1 g4f qEI O 

rH F=0.1x J/m HG T 

C) 250 J 

A) 4.8 

B) 2.5 N 

B) 48 /2 e 
) 24 2 

D) 24V2 e 

B) 275 J 

D) 475 J 
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81. If the ammeter in the given cireuit reads 2A, the resistance R ia 

A) 1S2 

C) 32 

C 

60 
W 

32 

A) 36x 10° joules 

B) 36 x 10° joules 

C) 10° joules 
D) 10° joules 

A) 4E 

32. 1 kilo watt hour is equal to 

C) E 

33. A cyclotron is used to accelerate 
protons, deuterons, d-particles, etc. If 
the energy attained after acceleration, 
by the protons is E, the energy 
attained by a-particles shall be 

A) Honl 

R 

B) n' 

6V 

C) H,nl 

B) 22 

34. The magnetic field on the axis of a 

long solenoid having n turns per unit 

length and carrying a current I is 

D) None of these 

D) 4 Q 

B) 2E 
E 

30 

32. 1 fhet 1Z Et arar 

69 

A) 36 x 10° 

A) 1Q B) 2 SQ 

C) 10 

Page No. 1| 

B) 36x 10° 

D) 10° & 

A) 4E 

C) E 

R 
W 

A) Honl 
B) Hnl 

D) 4 0 

B) 2E 

34. sfM s5r ATË n qHrai rf 3t I faga 

D) A 
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35. At a certain place, the horizontal component of carth's magnetic field is V3 times the vertical component. The angle of dip at that place is 
A) 60° 

B) 45° 

C) 90° 

D) 30 

36. The ultimate individual unit of 
magnetism in any magnet is called 
A) North pole 
B) South poleSS0 

C) Dipole 

D) Quadrapoleob 

37. At which place, earth's magnelism 
becomes horizontal ? 

A) Magnetic poleFSR 68 

B) Geographical pole 

) Magnetic meridianf 1 

D) Magnetic equator 

38. The radius of curvature of the path 

of the charged particle in a uniform 
magnetic ficld is directly proportional to 

A) The charge on the particle 

B) The momentum of the particle 

C) The energy of the particle 

D) The intensity of the field 

A) 60° 

B) 45° 

C) 90° 

D) 30° 

A) 3a 
B) a g 

D) gya 

no B) feres ya 

Page No, 12 

D) jrfr fgaa 

D) 7 f 1441 
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39. Three bulbs of 40 W, 60 W, 100 W are arranged in series with 220 V supply. Which bulb has minimum resistance? A) 100 W 

B) 40 W 
C) 60 W 

D) Equal in all bulbs 
40. On increasing the plate separation of a charged condenser, the energy 

A) Increases 

B) Decreases 

C) Remains unchanged 
D) Becomes zero 

41. A stress of 3.18 x 10° Nm is applied to 

a steel rod of lengthlmalong its length. 

Its Young's modulus is 2 x 10" Nm². 

Then the elongation produced in the 

rod in mm is 

A) 3.18 

B) 6.36 
C) 5.18 

D) 1.59 

42. Cohesive force is experienced 

between 
A) Magnetic substances 

B) Molecules of different substances 

C) Molecules of same substances 

D) None of these 

39, 40 W, 60 W. 100 W d 4eA 220 V 

A) 100 W 
B) 40 W 
C) 60 W 

B) G rfi 

D) r 

2x 10" Nm, � À 3A ferU 

mm 

S �5 3.18x 10 Nm 4T4 

A) 3.18 

B) 6.36 

C) 5.18 

D) 1.59 

42. HHF A 

Page No. 13 

B) afr vert u 
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43. Volumc, pressure and temperature of an ideal gas are V, Pand Trespectively. If mass of its molecule is m, then its density is (K- Boltzmann constant) 
A) mkT 

B 

C) 

P 

KT 

P 

KTV 

Pm 
D) KT 

44. How many times a diatomic gas 
should be expanded adiabatically so 
as to reduce the root mean square 

velocity to half ? 

A) 64 

B) 32 
C) 16 

D) 8 

45. Infrared radiation is detected by 

A) Spectrometer B) Pyrometer 

D) Photometer C) Nanometer 

46. If a magnetic substance is kept in 

a magnetic field, then which of the 
following is thrown out ? 

A) Paramagnetic 
B) Ferromagnetic 

) Diamagnetic 

D) Antiferromagnetic 

J5: V, P at T | afe ges HU 5 

(K-teta ruaies) 

A) mKT 

B) 

C) 

P 

KT 

P 

KTV 

Pm 

D) KT 

44. va6 faYurufas A4 1 r 

A) 64 

B) 32 

Page No. 14 

C) 16 
D) 8 

45. 34 fUT YT 

A) aar 
C) tz 

A) 3qgaftu 
B) teefu 
C) sfrguâ 

D) sfaetejacâta 

B) tz 
D) setzx 

realme 

Shot 
by 

realme 

02 EE(LE) 



47. A coil of area 100 cm has 500 tums. Magnetic field of 0.1 weberim is perpendicular to the coil. The field is reduced to zero in 0.1l sccond. The induced emf in the coil is 
A) IV 
B) 5V 

C) 50 V 

C 

D) Zero 

48. A circular coil of mean radius of 7 cm 
and having 4000 turns is associated 
at the rate of l800 revolutions per 
minute in the earth's magnetic field 
(B = 0.5 gauss), the maximum emf 
induced in coil will be 
A) 1.158 V 

B) 5.8 V 
C) 0.29 V 
D) 0.58V 

49. The de Broglie wavelength à 

A) is proportional to mass 

B) is proportional o impulso 

C) inversely proportional to impulse 

D) does not depend on impulse 

50. The photoelectric effoct can be 

understood on the basis of 

A) The principle of superposition 

B) The electromagnetic theory of 

light 
C) The special theory of relativity 

D) Line spectrum of the atom 

47. 100 cm t 5 seft 500 rd 

10.1 weber/m1 jfu set 

A) 1 V 

B 5V 

) 50 V 

D) A 

48. HI faRI 7 em t 4000 T4rt ef 

(B= 0.5 TÍa) 1800 quf sfa fee 

A) 1.158 V 

B) 5.8 V 

C) 0.29 V 

D) 0.58 V 

49. eft RURÀ 

B) 3Tam HHqT 

D) H fnft 

50. yGR-fatu THT 

Page No. 15 

A) rerÈuj freia 

B) vENI I fagayeâtu fRtzid 

3T14TK 
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C 

51. In one dimensional close packed arrangement, the coordination 
number is 

52. 

A) 3 

ENGG. CHEMISTRY 

B) 2 
C) 4 

D) 1 

lead poisoning. 
A) D-penicillamine 

is used in the treatment of 

B) EDTA 

C) Desferrioxime B 
D) Cis-platin 

A) 

53. In mercury cell, the electrolyte is a 
paste of 

HgO and Carbon eL 
B) Zinc-mercury amalgam 

C) Hg0 and Zn0 

D) KOH and Zn0 

54. The sum of powers ofthe concentration 
Uof the reactants in the rato law 

expression is called the 
chemical reaction. 

A) order 

B) molecularity 

C) elementary 

D) half life 

of that 

A) 3 

Page No. 16 

B) 2 

C) 4 

D) 1 

A) D.ifeHS4 
B) EDTA 

C) fgHaf0HISA B a1A 
D) frg-a 

A) Hg0 3¦t HIEHoslsb adT 

B) TEdI-YIT fATg A 
e) Hg0 stt ZnOberng 

o D) KOH 3Ì ZnOnt 

A) shH 

B) 3fhdI 
gil 

D) uf�reg sail ( 

realme Shotby realme 
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56 

eoomposition of gaseous ammonia on a hot platinum surface is a order reaction at high pressure. A) zero 

C) second 

A) Haemoglobin 
B) Starch 

is a positively charged sol. 

C) Eosin 

D) Congo red 

A) Elevation point 

57. The formation of micelles takes place 
only above a particular temperature 
called 

) Freezing point 

B) first 

B) Critical temperature (T 

D) third 

A) 2.9 

D) Kraft temperature (T) 

58. The calculated magnetic moment for 

Zn ion is 

C) 1.8sie 

A) Ethanol-water 

B) 2.2 

D) 0 

59. Example for the solutions that show 

large negative deviation from Raoult's 

law form maximum boiling azeotrope 

at a specific composition 

B) n-hexane and n-heptane 

C) Benzene and toluene 

D) Nitric acid and water 

56 

A) 
C) fzta 

A) tiritfeaA 

B) R 
C) safta 
D) IR 

D) AYHH (T) 

57. HUai fufq 5 fa�y arHTT, f 

A) 2.9 

C) 1.8 

58. Zn TUA VEfera f 3Teuí 

Page No, 17 

B) 944 

A) Feafe-fet 

D) qfru 

D) f 3L 3 

B) 2.2 

Notes 

D) 0 

B) n-k4 st n-ta 
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60. In a first order reaction, time required for completion of 99.9%is, 

62. 

of half.life (t) of the reaction. 

63. 

A) 50 

B) 20 
C) 5 

61. R-NH, + CHCL,+ 3KOH 
R-NC + 3KC1 + 3H,0 

This reaction is known as 

D) 10 

A) Carbylamine reaction 
B) Sandmeyer reaction 
C) Gattermann reaction 

D) Hinsberg's reaction 

CO, HCI 
Anhyd. AlCI/CuCl 

This reaction is called 
reaction. 

A) Gatterman-Koch 

B Etard 

C) Stephen 
D) Acylation 

wood. 

A) Methancl 

also known as wood spirit was 
produced by destructive distillation of 

B) Ethanol 
C) Propanol 
D) Butanol 

times 

4. Deficiency of 
convulsions. 
A) Vitanin A 
C) Vitamin B 

Heat N 

CHO 

causes 

B) Vitamin B, 
D) Vitamin B,a 

60. gem gH 4ffr 99.9% * quf r 

62 

63 

A) 50 

64. 

B) 20 

61. R-NH, + CHCL, + 3KOH 

R-NC+ SKCI + 3H,0 

C) 5 

D) 10 

A) afseTÍT srfuaI 
B) ts HfafT 

D) féref sfuhe 

CO, HCI 
refkA AICL/CuCl 

A) tt 
B) S 
C) IET 
D) VHISTE4U| 

A) feafe 
B) à-t 

D) aTe 

A) faeferaA 
C) faerfn B, 

B) fazfn B, 
D) faerfin Bys 

) 



65. 4HCl +0, 
This i 

A) Deaceon's 

B) Wilson's 
C) Sandmeyer's 
D) Baeyer's 

66. Acyl chloride is hydrogenated over catalyst, palladium on barium 
sulphate. This reaction is called 

Cucla2C1,+ 2H10 process 

A) Gatterman-Koch reaction 

B) Rosenmund reduction 
) Stephen reaction 

D) Etard reaction 

67. Commercially glucose is obtained by 
hydrolysis of starch by boiling it with 

at 393K under pressure. 

A) HI 

B) dilute H,S0, 

C) NH,OH 

D) HCI 

68. Nylon 2-nylon 6 is an alternating 

polyamide copolymer of 
amino caproic acid. 

A) adipic acid 

B) alanine 

) glycine 
D) Ecaprolacteum 

and 

65. 4HCI+0, 

B) faa 

D) 44 

A) tztt-ffF 

CuCl,, 2CL,+ 2H,0 

B) HHS 3A44 

D) TÉ 3rfuf 

67. uforE T 393K A ta 

A) HI 

B) g IIS0, 
C) NH,OH 

D) HCI 

Page No. 19 

68. 1SdA 2-414GTR 6, 

A) vfsfr5 3ET 

B) vtIA 
C) TRTsf 

ealme 

D) E.etfazau 
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69. is the most successful and 

widely used artificial sweetener. It is 
roughly 100 times as sweet as cane 
sugar. 

A) Sucralose 
B) Aspartame 

C 

C) Saccharin 

D) Alitame 

70. Transparent soaps are made by 
dissolving the scap in 
then evaporating the excess solvent. 

A) glycerol 
B) acetone 

C) rosin 
D) ethanol 

71. Thenumber of reacting species taking 
part in an elementary reaction, which 
must collide simultaneously in order 
to bring about a chemical reaction is 

called of a reaction. 

A) order 
B) molecularity 
C) metastable state 
D) reactivity 

72. The styptic actin f and ferric 
chloride solution is due to coagulation 
of blood forming a clot which stops further bleeding. 
A) alumn 

and 

B) haemoglobin 
) magnesium chloride 
D) ferrous chloride 

69. 

à 100 TTr fat tar 

A) yoheit 
B) TEn 

D) efen 

70. VRGff 444 

A) frerE 
B) yefta 

C) àfa 

D) FeaiT 

72, 

A) EH 

B) 3fvacbAI 

Page No. 20 

C) 3fn fafa 

D) RHGAI 

A) fhzt 
B) tuveife 

D) 8 0USS 
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73. Colloidal 
Kalaazar. 
A) gold 

75. 

B) silver 

C) antimony 
D) lead 

74. Copper matte contains 
A) Cu,0 and Fe,0, 
B) Cu,S and Fe,O, 
c) Cu,O and Fe,0, 
D) Cu,S and FeS 

also called saccharin, is 
the first popular artifieial sweetening 
agent. 

A) Sucralose 

is used in curing 

B) Para-sulphobenzimide 
) Meta-sulphobenzimide 
D) Ortho-sulphobenzimide 

76. Tear gas is 

A) CCl,NO, 
B) COCL, 
C) Ca(0CI), 

D) CI CH,CH,S CH,CII,CI 

77. The almost identical radii of 

and a consequence of the 

lanthanoid contraction. 

A) Ce and HO 

B) La and Er 

C) Zr and Hf 

D) Nd and Lu 

73. ferefty 

75 

A) auf 
B) td 

77. 

D) 

Page No. 21 

A) Cu,0 stt Fe,0, 
E) CuS t Fe,0, 

D) Cu,S st FeS 
C) Cu,0 stn Fe,0, 

yfan frgrat srfirfs 

A) eia 
B) tu-HTSK 

C) AeI-HeiAIES 

76. 42 tH 

D) ii-eäAAYE 

A) CCI,NO0, 
B) COCl, 
C) Ca(0C), 
D) Cl CH,CH,S CH,CH,Cl 

A) Ce 3t HO 

B) La 3tt Er 

C) Zr st Hf 

D) Nd 3tt Lu 
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C 

78. Higher levels of 
dizziness, nausea, tingling nnd 
numbness in the fingers and toes. 
A) chloroform 

B) trichloro methane 

82 

C) tetrachloro methane 

D) methylene chioride 

79. Phenol is converted to 
heating with zinc dust. 

A) aldehyde 
C) acid 

A) Kerosene 

80. The commercial alcobol is mado unfit 

for drinking by mixing in it some 
copper sulphate and 

B) Pyridine 
C) Chloroform 

81. The addition f 

D) Carbon tetrachloride 

years. 

A) BHT 
B) BHA 

increases its shelflife from months to 

C) BTH 
D) BAH 

in air causes 

A) Histamine 

B) ketone 
D) benzene 

B) Cimetidine 

C) Ranitidine 

on 

is responsible for the nasal 
congestion associated with common cold and allergic response to pollen. 

D) Meprobamate 

to butter 
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78. 4 
rr, feri t ti 

82. 

A) etànif 
B) Zsà frêa 

D) frrseft FiES 

C) 4 

A) teft 
B) Isâfsa 
C) 0Üstf 
D) %4 yRISS 

81. HGH H 

A) BHT 

B) BHA 
C) BTH 

D) BAH 

A) fererfaa 
B) fanergáa 

C) tfegta 
D) ÀSETAz 

B) <61ea 

D) t 

reaime 

Shot 
by 

reaime 



83. Nylon 6 is obtained by heating 

84. 

85 

86. 

87. 

88. 

with water at a high temnperature. A) ethylene glycol B) caprolactum C) terepthalic acid D) adipic acid 
and albumins are the common examples of globular proteins. A) Keratin 

C) Insulin 

is insoluble in water and constitutes about 80� 85% of starch. 
A) Cellulose 

C) Amylose 

A) Morphine 

C) Codeine 

is non-narcotic analgesics. 

B) Heroin 

D) Aspirin 

A) Buna-N 

B) Neoprene 

conveyor belts, gaskets and hoses. 

C) Buna-S 

is used for manufacturing 

A) CC1,F2 
) CCl,F 

B) Myosin 
D) Glycin 

is Freon 12. 

B) Lactose 

D) None of the above h 

D) Amylopectin 

B) Cinnamonom 

D) Sunflower 

B) CCI,F, 

89. Salicylaldehyde is present in 

D) CCI,F 

A) Vanilla beans s 

C) Meadow sweet O 

83. rerft 6 v 3 aT ee H4 

84. 

85. 

86. 

87. 

88 

A) yTget egfet 

HH3IKI 
A) fatfza 

A) YârH 

) ssH 

A) a-N 
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80-85% frEr T 1 

B) ta 
) 1-g 

A) CCI,F, 
C) CC1,F 

89. afeengerefsEES 

A) ten 
B) Terefift 

B) 4ieuza 
D) fsfa% TEet 

D) {ágt 

B) raa 
D) fa 

B) 
D) gtrÍT 

B) A 
D) eñta 

frat 12 ti 

B) CCl,F, 

D) CCl,F 

oy realme 

reaime 

02 EE(LE) 


